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FREL AFOH Flbe =5
B KT BEF [ $Uat Vyvis ] BA D [ fUAtUyiRE ]
M1 Ji= 7.4 J2= 6.9 J3= 7.1 J4= 1.0 J8=9.200 J9=9.200 J10=9.200 D= 5.0 Pen= T= 37.500 Total
1 B2 J1= 7.5 J2= 6.9 J3= 7.4 J4= 7.1 J8=8.200 J9=8.200 J10=8.200 D= 5.0 Pen= T= 35.900 73.400
xxbe 0FE UNBANE 1S . .
IEGL A& RE [ FZASHE U7 ] BH EBR [ EUSUE T ]
M1 JI= 6.8 J2= 7.3 J3= 6.9 J4= 1.0 J8=8.300 J9-8.300 J10-8.300 D= 5.7 Pen= T= 36.200 Total
2 Hpi2 Ji= 7.0 J2= 7.1 J3= 6.9 Ja= 7.1 J8= 8.500 J9=8.500 J10=-8.500 D= 5.7 Pen= T= 36.800 73.000
BEOX 0 BBO 590 )
JBGL KE f£F [ REMNS WEE ] XKE B [ BEMNW IHE ]
Bl Ji= 7.5 J2= 7.2 J3= 1.5 J4= 6.8 J8=8.400 J9=8.400 J10=8.400 D= 4.3 Pen= T= 35.800 Total
3 B2 Ji= 7.4 J2= 7.0 J3= 7.3 J4= 6.8 J8=9.000 J9=9.000 J10=9.000 D= 4.3 Pen= T= 36.600 72.400
BT Lwodb . HED LA ] .
B FESEHE [ M50 U957 KITAML ] x5 i [ MUEYUH537°KITAMT ]
Bl Ji= 7.1 J2= 6.9 J3= 6.8 J4= 6.8 J8=9.000 J9=9.000 J10=9.000 D= 4.2 Pen= T= 35.900 Total
4 B2 Ji= 7.2 J2= 6.9 J3= 7.1 J4= 6.4 J8=8.900 J9-8.900 J10-8.900 D= 4.2 Pen= T= 36.000 71.900
bl Sbh DL D<A .
Bz BR B% [ M5y Y0957 KITAML ] BE OBE [ MU U7 KITAML ]
Bl Ji= 7.5 J2= 7.3 3= 1.4 J4= 1.1 J8=8.600 J9=8.600 J10=8.600 D= 3.3 Pen= T= 35.200 Total
5 Hm2 Ji= 1.5 J2= 1.3 3= 1.7 J4= 1.2 J8=9.000 J9=9.000 J10=9.000 D= 3.3 Pen= T= 36.100 71.300
L LA Leon . wa‘m_m
IBGL &K #f%E [ SIETHA SOEMA ] EJE B [ ST SAHER ]
Bl Ji= 7.9 J2= 7.1 J3= 1.3 J4= 1.2 J8=8.800 J9-8.800 J10-8.800 D= 2.9 Pen= T= 35.000 Total
6 2 Ji= 7.6 J2= 7.3 J3= 1.5 Ja= 1.1 J8=9.100 J9=9.100 J10=9.100 D= 2.9 Pen= T= 35.900 70.900
DL W) IHRE BV .
JEGL d#tinves [ ZRETMUE UiEE ] ML =4 [ EZRETISUE iR ]
Bl Ji= 7.4 J2= 1.5 J3= 1.3 J4= 1.2 J8=17.900 J9=17.900 J10=7.900 D= 4.3 Pen= T= 34.800 Total
7 B2 Ji= 7.5 J2= 7.0 J3= 7.4 J4= 6.9 J8=8.600 J9=8.600 J10=8.600 D= 4.3 Pen= T= 35.900 70.700
L LERRE v . BBIZL @Hn N
IBGL A uERR [ BHhO®EITT ] XKfi HE [ GHhoFEs)iir 1
Bl Ji= 7.6 J2= 6.8 J3= 7.2 J4= 6.7 J8=8.700 J9=8.700 J10-8.700 D= 4.5 Pen= T= 35.900 Total
8 B2 Ji= 6.9 J2= 7.0 J3= 7.1 J4= 1.0 J8=8.100 J9=8.100 J10-8.100 D= 4.5 Pen= T= 34.700 70.600
&Y R . bnigs Zo . .
B ek 2SR [ +By 1o76RI57 ) ER X BRI Y77 ]
M1 Ji= 7.5 J2= 7.5 J3= 1.6 J4= 1.2 J8=8.400 J9=8.400 J10-8.400 D= 3.0 Pen= T= 34.800 Total
9 g2 Ji= 7.7 J2= 1.2 3= 1.7 J4= 6.8 J8=8.000 J9=8.000 J10=8.000 D= 3.0 Pen= T= 33.900 68.700
x&xx xzxo WASH A
GG EaRmks [ S T2 SOER ] ﬁ“i% tE [ ST SAHER ]
Bl Ji= 7.3 J2= 7.2 J3= 1.2 J4= 1.2 J8=9.300 J9=9.300 J10=-9.300 D= 2.8 Pen= T= 35.800 Total
10 B J1= 7.3 J2= 6.8 J3= 7.0 J4= 7.1 J8=7.600 J9— 7.600 J10=7.600 D= 2.8 Pen= T= 32.100 67.900
ILEE HBn SLEeE AUV .
B &HB & [ EFETMHUW VB ] dRBNGE [ ERETMUE IS ]
Bl Ji= 7.3 J2= 6.9 J3= 6.8 J4= 6.6 J8=8.500 J9=8.500 J10=8.500 D= 3.9 Pen= T= 34.600 Total
M gme 5= J2= J3= J4= J8= J9= J10= D= Pen= T= 34. 600
L TEBb . . NED W ] .
6L EM FE [ OTAMNMW YT ] ik A8 [ IR Y577 ]
E 1 JiI= 6.6 J2= 6.5 J3= 6.8 J4= 6.3 J8=8.200 J9-8.200 J10-8.200 D= 4.2 Pen= T= 33.700 Total
12 gue 1= Jo= J3= J4= J8= J9= J10= D= Pen= T= 33. 700
Whts B . b Bk .
JERZ HB i [ SIBTCPITY ] M @E [ RIBTCIIMY ]
M1 JI= 7.2 J2= 6.8 J3= 1.3 J4= 1.0 J8=8.100 J9=8.100 J10=8.100 D= 3.1 Pen= T= 33.500 Total
A2 J1= J2= J3= J4= 8= J9= J10= D= Pen= T= 33. 500
L EEn ves . X&) [InE .
B A5 [ 4UaE Yy ] K BE [ At VyIRE ]
M1 JI= 6.5 J2= 6.4 J3= 6.6 J4= 6.6 J8=8.000 J9-8.000 J10=-8.000 D= 2.6 Pen= T= 31.700 Total
B2 J1= Jo= J3= J4= J8= J9= J10= D= Pen= T= 31.700
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JI: /JNE EF J2r Bl &ih J3: AEll sET- Ja: FrHl K
J6: AR FnA JT: ek J8: P jEh
D5 D D5 D
GG HE B [ SIETCIIFY ] 2 HE [ fGTCHIMMY ]
Bl JI= 6.9 J2= 6.4 J3= 6.8 J4= 6.8 J8=7.800 J9=7.800 J10=7.800 D= 2.3 Pen= T= 31.500 Total
15 gme Ji= Jo= J3= Ja= J8= 19= J10= D= Pen= T= 31. 500
BAD BHUD SUED B
B EEH T|k [ E=ZFETMHUW DS ] adf EFB [ ZZFRETHW WiBE ]
Bl Ji= 7.7 J2= 6.9 J3= 7.5 J4= 1.3 J8=6.500 J9=6.500 J10=6.500 D= 2.3 Pen= T= 30.100 Total
16 pe 1= Jjo= J3= Ja= J8= J9= J10= D= Pen= T= 30. 100
DEes FR0M D 1EZON
JEGL 7#EEBRE [ 2B Y957 ] TFEBRRTE [ ZRINSUE Y577 ]
Bl JI= 2.6 J2= 2.5 J3= 2.7 J4= 2.4 J8=2.900 J9=2.900 J10=2.900 D= 2.3 Pen= T= 13.200 Total
17 B 1= Jjo= J3= Ja= J8= J9= J10= D= Pen= T= 13. 200
BERRL o0 38 I
IBGEL XK= B [ B 1276857 ] E RE [ RS YT ]
Bl Ji= 2.7 J2= 2.8 J3= 2.7 J4= 2.8 J8=2.300 J9=2.300 J10=2.300 D= 0.0 Pen= T= 10.100 Total
18 w2 Ji= Jo= J3= Ja= J8= 19= J10= D= Pen= T= 10.100
nEH Big LFELE B
JEGL hode ¥ [ RBISUE Y57 ] A B3 [ OEBIMNUE VT ]
Bl JiI= 1.9 J2= 1.9 J3= 1.9 J4= 2.0 J8=1.500 J9=1.500 J10=1.500 D= 0.0 Pen= T= 6.800 Total
19 Hme = Jo= J3= Ja= J8= 19= J10= D= Pen= T= 6. 800
RAAb B0 WLAZ WD
IEGZ Pl &3 [ BT CPIT ] BL & [ fSBTCHITMY ]
Hi1 Ji= 0.0 J2= 0.0 J3= 0.0 Jj4= 0.0 J8=0.000 J9=0.000 J10=0.000 D= 0.0 Pen= T= 0.000 Total
B2 J1= J2= J3= J4= 8= J9= J10= D= Pen= T= 0. 000




